BbICOKOUACTOTHBIN MEHTON C KOPOTKOM XapaKTepPHCTHKOH
High-frequency pentode with a short characteristic curve

7XI12C

BEICOKOUACTOTHRI!I MEHTOA € KOPOTKOH Xapak-
tepucrukoit 7)K12C npennasHaued AJAs1 YCHJCHHUA
HAaNpSXeHHs1 BBICOKOH YacTOTHI B YCTPOHCTBAX
JaJibHe#l TPOBOAHOM CBA3H.

Bricokouacrorunie nentoam 7)K12C  BeIDyC-
KaloTC B CTEKJSIHHOM O(OpMJEHHH C OKTaJbHBIM
IOKOJIEM, ¢ OKCHAHBIM KaTOJOM KOCBeHHOTO Ha-
KaJa.

Bricokouactotuble nedroan 7/K12C ycTOAUUBH
K BO3IeHCTBHIO OKpYy2Kamlleil TeMneparypst or —60
1o +70°C u OTHOCHTEJBHOH BJaxkHOcTH 95—989,
npu temnepatype +20°C.

HaunGoapmui Bec 50 .

FapantupoBanuas poaroseydocts 1000 uacos.

The 7)K12C high-frequency pentode with a
short characteristic is designed for amplification
of high-frequency voltage in long-distance wire
service systems.

The 7)K12C high-frequency pentodes are enclo-
sed in glass bulb and are provided with an octal
base and an indirectly heated oxide-coated cath-
ode.

The 7)K12C high-frequency pentodes are resis-
tant to ambient temperature from —60 to +70°C
and relative humidity of 95 to 98% at 420°C.

Maximum weight: 50 gr.
Service life guarantee: 1000 hr.

AJEKTPUYECKHE JAHHBIE
ELECTRICAL CHARACTERISTICS

U, 735+065V Uy -3V P,y =04 W
I, 425mA Uy 0 k1) 14%
U, 20V I, 55%15mA S 1,86+0,25 mA/V
Ugs 135 V Igo 1,050,55 mA R, 500 kQ
Yy Tipu

AF Ugpmers =19V, R; =60 kQ.

MEXIAY3JEKTPOOHBIE EMKOCTH
INTERELECTRODE CAPACITANCES

Cgix 5:8%12 pF
C,. 125+35 pF

C,,, <0,03pF

gla

NMPEAEJBHO JOTNYCTHMBIE 3KCNJYATALHOHHBIE JAHHBIE
MAXIMUM AND MINIMUM PERMISSIBLE RATINGS

Max Min
U, 78V 6,85 V
U, 20V
u 180 V

g2

Max
P, 1.9 W
sz 04 W
Uy, 1980 A

173



7>K': !( : BbicokouacToTHBIN MEHTON ¢ KOPOTKO# XapaKkTepUCTHKOM
High-frequency pentode with a short characteristic curve

g | &
~ l o
8 3
15,5 maz 10,5max
125 max
12
N
g
N\
S
N
7 10
VARVAN
A VA
AnavaP
A /Y
A 1A
<
12 \ 4 / g
X Ugr=0V / o
\ fi YA / b
10 4 7 \t:x
“\ ~{V /
< N / / /
E g . N I 177
~ 4 N1 [F2v / ’ 4
> /| //
S -3V
L N
N X Ups=0V / V4 1,\‘%
4 < 1A0AT A A/ Vi
1 | / < /V?
- -5V -2V // /, /| A /420/
, === SZeZaNn= s
i\ — = b e | 3 4 ::V = ://:"—”
L\( < FE = 3 /‘—‘ 4:_‘:4:/
0 100 200 Ug,V Ypv-1 -6 -5 -4 -3 -2 A 0
L, Ig2=f(Ua) I, Ig2=f(Ug1)
I, I, =425 mA —_— I, =425 mA
_ - —-Ig2 Ug2=l35V —_— ——Ig2 U,=250V
————— P4 max Ug3_0 Ug3=

174



